UNITE 1 - ENOTHTA 1

2 Wwya = TTndw =

AvOpwTivog = TTépTw =

KepdAi = Avepaivw 2 kaTePpaivw =
2.Pépko, auxévag 2T =

TTAdTn = Epyaoia, douAcid =
AyKwvag = OIkiakog =

OmioBia (2 Aé€eig) = 2 koutiCw =

Mdri, pamia = TTepvw =

MUTNh = HAekTpIKA oKoUTIa =
MaAAid = 2 kouttiw pe hA. ZKouma =
AuTi = Z18epwvw //Eavamepvus =
Aaipég = =eokovilw =

Quocg = TakToToIW =

2ThBo¢ = Awypdrio =

KotAid = TpdypaTta =

2 Topdax! = Papw =

Ougpahog = Mayeipetw (2 ekpp.) =
Mmpdroo, xép1 (0AOKANpPO) = KouCiva =

Xépi = Kavw =

AdkTUAO XEPIOU = Etoipdlw =

AdkTUAO TT0dI10U = Melpa =

NUx! = 2Z1pwvw (palw) Tpaméds =
Iauma, m6d1 (oAdkANnpo) = Balw =

TT6d1 (kdTw pépOC) = Tpamédi =

lovaro = Malevw, kaBapilw To Tpaméli =
AoTpdyaAog = TTAévw (kdvw) Ta midTa =
TTpéowTo = Ta maTikg =

MéTwmo = TTAévw =

&pUd = AoTtpopouxa =

BAégapo = ‘Edagoc, maTwya =
MdyouAo = Koepdri =

Xeihog = 2Tpwvw (KAvw) To KpePATI Hou =
2T0Ha = Kai =

AovTi = Eocic, eodc =

\waooa = 2e?amo =

TTnyouvi = Ti, olog =

Kapmég = Qpa =

drépva // Takouvi = Zumv =

Ta emeiyovra = 2 nkwvopai =

TTovdw = Taipvw =

‘Exw movokégaAo = NToug =

Kdrayua = Kavw (maipvw) vroug =
TTAnyA = BoupToilw =

Kdayipo = XteviCopai (2 pApara) =
Kivnon = Makiyidpopai =

EBEw # péoa = ZupiCopai =

TMepmarw = NtUvopar =

Tpéxw = Le petit déjeuner =



